TR the A I A LR R H L EIEHRER Y 2
s A4

- S RFHREBZIFHRT FAE o E A
(=) 3 H S PR 1500 g 52 R ER S F gt

rANEEIEE S 4 TEY RE-RPEE R P a0 AR R
E_%:?Q%LW$&%@%%¥:F$§$£% Ermr o A Y
oAb g A EMET 2 H B R 60% SR KEH ATk

AR EMA 2R H RS azow&#ﬁﬁ%féaﬁ 42.27 2
T Rkt B3.45% - AR KE T B ATikG fF 25,57 20F o dk
35.84% » Ay m FF X T1.35 2F o
(=) MEFPIFFE4-T
. #1055 T1 %2 RBEF A8 2 KR
A2 PRAENRETR fiG AT EAE
ﬁﬁ»%‘?§2,965‘ °
2. ZPp 105 & T2 X2 RGELFARS ) 2+
1Az A A ol A d 2

’m ﬁa

B o

3. BIP B RS ZHRL A ZZIHPHIETPIERALZ Y Fa
MERE FHAL R R * 3 R > R 2 H I B RP
7dics 103 Fo 751185 2,965 B 5 Rt s ¢

4, BRAFHAFEIERGIPE S a4 PERAFFE LR E
TR R e &+ 2 ,T,,F\;J&’“*’c"“r‘%l)"ﬁi:’] 29 o §EiT
TSR 4 RO R A kA £ FR gL & ko

a2 Ay 2 Adrdpih o

#

|
~— 11_‘3'
M
A
]

)4
.
et

}»_.
Bl
ol

B G 484 T1.35 27 -
OB G A 45,27 208 0 bR G A 63, 45% o
WOEBH G A5 4 25,57 2F > (At h o 484 35.84% -

1

Sig
~

el
NN
ST
s

N
+

b



Z) R HRAFRJAEFEY B (- )R FARFN 40, TT = F B-ik 2307
B N ﬁﬁlj%ﬂlj,zgnfz;; TR B g L T0% FRE
240% s A F* # (2o AR 4.50 = “Eﬁ—%—x;?b;&ﬂ Bt
PR GIRR G T A B S L 60% FAES 5 160%-
B ARRERRS SRFFo FRETORITIREF o0 F
ugﬁﬁiﬁﬂ&5§£%%’ﬁa%%wwﬁéﬁﬁﬁﬁéﬁ
952087~ ARM A ARE VERART £ 20%FE RGO
42 o~ > RFAFERET A RT > 20 R T L -
Z IV R T pHEI T ER .
AT EZHTIATHEBAEFIRE 2P ERZ FARLT
110 £ 057 01 pP-2 2L F 2T %
110 £ 057 19p -+ 224048 S HpTmEL R ¢
110 # 06 » 30 p -B &
110 # 07 * 15 p —7=E B2 RFE
110 # 07 » 28 p -3k ¥ 1%

i



